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(a) Standup India  (b) Startup India  (c) Digital India  (d) Make in India

_____________is designed to transform India to a global design and manufacturing hub.

(a) Digital India  (b) Make in India  (c) Startup India  (d) Design India

______ is the Government of India's endeavour to promote culture of innovation and entrepreneurship.

(a) AIM  (b) STEP  (c) SEED  (d) AIC

_____ should cover aspects like sources of finance, technical know-how, source of labour and raw material, market potential and

profitability.

(a) Technical Report  (b) Finance Report  (c) Project Report  (d) Progress Report

_____ has to include the mechanism for managing venture in the project report.

(a) Banker  (b) Government  (c) Lending Institutions  (d) Entrepreneur

Make in India initiative was launched in

(a) April 2014  (b) September 2014  (c) May 2014  (d) None of these

Stand-up India was launched in

(a) 2015  (b) 2016  (c) 2017  (d) 2018

National Skill Development Mission was unveiled in

(a) March 2014  (b) September 2014  (c) March 2015  (d) July 2015

Entrepreneur has to include the mechanism for managing the venture in the

(a) Project report  (b) Statutory license  (c) Both 'a' and 'b'  (d) None of these

Entrepreneur has to apply for

(a) Statutory license  (b) Project report  (c) Provisional Registration Certificate

(d) Permanent Registration Certificate

List I List II

i) Startup India 1)Grand Challenges

ii) Make in India2)Horticulture, food processing

iii)AIM 3)Foster innovation, develop skills

iv)STEP 4)Fund of Funds

(a)

(i)(ii)(iii)(iv)

1 2 3 4

 (b)

(i)(ii)(iii)(iv)

2 3 1 4

 (c)

(i)(ii)(iii)(iv)

3 4 2 1

 (d)

(i)(ii)(iii)(iv)

4 3 1 2

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

The ___________ initiative was launched to modernize the Indian economy to make all governments services available electronically.
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LIST I LIST II

i) JAM 1)Schedules Castes and Scheduled Tribes

ii) Digital India 2)India's underprivileged women

iii)Stand - up India3)Modernize the Indian economy

iv)TREAD 4)Eliminates all intermediaries

(a)

(i)(ii)(iii)(iv)

1 2 3 4

 (b)

(i)(ii)(iii)(iv)

4 3 1 2

 (c)

(i)(ii)(iii)(iv)

3 1 4 2

 (d)

(i)(ii)(iii)(iv)

2 4 1 3

__________ is a foremost challenge facing India.

(a) New programmes    (b) Innovation  (c) Job Creation  (d) None of these

_____________ has to choose suitable plot of accommodating his venture.

(a) Entrepreneur  (b) Intrapreneur  (c) Manager  (d) Promoter

___________ has to determine the source of finance for funding the venture.

(a) Intrapreneur  (b) Manager  (c) Entrepreneur  (d) Promoter

Entrepreneur has to obtain ________ from the authority concerned.

(a) Municipal License  (b) Project report  (c) Provisional registration certificate  (d) None of these

Entrepreneurship requires __________ types of finance

(a) two  (b) three  (c) four  (d) six

Non-recurring expenses are _________.

(a) Land  (b) building  (c) Both A and B  (d) wages

M-SIPS scheme provides capital subsidy of _________.

(a) 20%  (b) 25%  (c) 10%  (d) 30%

Match the following

1. Digital India (i) Ready to commence production

2. Permanent registration certificate(ii) Lending institutions

3. Statutory License (iii) Launched to modernize

4. Project Report (iv) Municipal license

(a)

ABC D

iii iviii

 (b)

ABCD

ii ivi iii

 (c)

ABCD

i ii iviii

 (d)

A BCD

iiii ii iv

Pick out the odd one:

(a) Technical feasibility  (b) Economic Viability  (c) Financial Viability  (d) Transport Viability

Assertion (A) : Entrepreneur has to obtain Municipal license from the authority concerned.

Reason (R) : Entrepreneur has to register the unit with the central and Sales Tax Department.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A)  (c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Which is not correctly Matched?

(a) Economic viability - Market share  (b) Finance - Long term & Short term

(c) Financial viability - Probable cost of production  (d) project Report - Preparing report on project

Project Report should include ________.
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(a) Technical feasibility  (b) Economic viability  (c) Financial viability  (d) All of these

Recurring expenses are _____.

(a) wages  (b) Salaries  (c) Overheads  (d) All of these

25)




